
22S-MATH-170E-LEC-1 Midterm 2

TOTAL POINTS

42 / 50

QUESTION 1

1 Problem 1 16 / 16

✓ - 0 pts Correct

   - 1 pts (a) error

   - 3 pts (a) multiple critical errors

   - 4 pts (a) little progress towards correct answer

   - 1 pts (b) error

   - 1 pts (b) left infinite sum in answer

   - 2 pts Only computed (correctly) half of the

conditional probability fraction

   - 3 pts (b) multiple critical errors--or very incomplete

   - 4 pts (b) little progress towards correct answer

   - 1 pts (c) error

   - 1 pts (c) left infinite sum in answer

   - 3 pts (c) multiple critical errors

   - 4 pts (c) little progress

   - 1 pts (d) error

   - 2 pts (d) Mostly right, but incomplete

   - 3 pts (d) multiple critical errors

   - 4 pts (d) little progress

QUESTION 2

2 Problem 2 10 / 10

✓ - 0 pts Correct

   - 1 pts (a) gives a definition that is only valid for

discrete or continuous

   - 3 pts (a) describes properties of the mgf, but does

not give the definition

   - 4 pts (a) no progress

   - 1 pts (b) minor error

   - 2 pts (b) incorrect/missing $$E[X^2]$$

   - 2 pts (b) incorrect/missing $$E[X]$$

   - 2 pts (b) incorrect/missing formula to compute

variance

QUESTION 3

3 Problem 3 12 / 12

✓ - 0 pts Correct

   - 2 pts a) did not specify the different cases of the

PDF correctly

Nice!

QUESTION 4

4 Problem 4 4 / 12

   - 0 pts Correct

   - 2 pts a) Missed the atom at w=0

- 8 Point adjustment

a) 2/7 some work, answer far from correct

b) 2/5 this is the correct answer, but is not

correct given your answer to part a). The CDF

you've given in a) produces E(W) = 1/2.
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